irsim example: 16 bit ripple carry adder
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Auto-generated “sim' format netlist

Instance "R' of component "Ripple'

A vdd R Ripple ON 2 4

B R Ripple ON R Ripple 1IN 2 4

A R Ripple 1IN R Ripple CBar 2 4

B vdd R Ripple ON 2 4

Cin R Ripple ON R Ripple CBar 2 4
Cin R Ripple CBar R Ripple 2N 2-2
A GND R Ripple 2N 2 2

B GND R Ripple 2N 2 2

A R Ripple CBar R Ripple 3N 2 2

B GND R Ripple 3N 2 2

Cin vdd R Ripple 4N 2 4

A Vdd R Ripple 4N 2 4

B vdd R Ripple 4N 2 4

R Ripple CBar R Ripple 4N R Ripple SBar 2 4
A R Ripple 4N R Ripple 5N 2 4

B R Ripple 5N R Ripple 6N 2 4

Cin R Ripple 6N R Ripple SBar 2 4
R Ripple CBar R Ripple SBar R Ripple 7N 2 2
A GND R Ripple 7N 2 2

B GND R Ripple /N 2 2

Cin GND R Ripple 7N 2 2

Cin R Ripple 8N R Ripple SBar 2 2
A R Ripple 9N R Ripple 8N 2 2

B GND R Ripple 9N 2 2

R Ripple CBar vdd Cout 2 4

R Ripple CBar GND Cout 2 2

R Ripple SBar vdd s 2 4

R Ripple SBar GND S 2 2

End of netlist



16 bit ripple carry adder: Test command file

Define bit vectors for display

vector § S${15:0}
vector A A{15:0}
vector B B{15:0} Turn on X-window analyzer display

analyzer Cout S B A Cin

w Cout S B A Cin

Set bit vectors
1 Cin
set A 0000000000000000
set B 0000000000000000
S
set A 1111111111111111
S
h Cin
S
set B 1111111111111111
S
1l Cin
set A 0000000000000000
1l Cin
S
set A 1111111111111110
set B 1111111111111110
S
h Cin
S
set A 0111111111111111
set B 0111111111111111
S
1 Cin
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